## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR ADDAMS ELEMENTARY SCHOOL PLANNING YEAR FOCUS GROUP ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0100-1341-535-5)

Baker, Audrey
Layne, Danielle
Edmonds, Meghan
Smith, Mckenzie

Harris, Sherry

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BUTLER ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0400-1341-535-5)

House, Elizabeth Redpath, Sara

Mahan, Eva

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL RESTORATIVE COACHING MARCH 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Anders, Clare Mccord, Sarah Antonacci, Abigail Vogel, Carolyn Bland, Rachel Zaffiri, Alise

Kwedar, Rebecca

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DUBOIS ELEMENTARY SCHOOL UIS RESTORATIVE PRACTICES FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Anders, Clare Kwedar, Rebecca Antonacci, Abigail Mccord, Sarah Bland, Rachel Vogel, Carolyn Bland, Steven Zaffiri, Alise V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR: (10-2210-4331-1341-534-5)

Beatty, Danielle	1.00 hours	\$36.99
Hendon, Wendy	1.50 hours	55.49
Moore, Lori	1.50 hours	55.49
Nolen, Emily	1.50 hours	55.49

VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 27, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Ciotti, Ryan Moore, Lori

Fox, Kathleen

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 20, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Constant, Ashley Fleming, Susan Crow, Cynthia Furkin, Ruth

Flanagan, Heather

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Biggs, Brian Kulavic, Tara

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL SCHOOL IMPROVEMENT PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Furkin, Ruth Jimerson, Angela

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL RESTORATIVE PRACTICES FEBRUARY 25, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-537-5)

Barrett, Caitlin	1.25 hours	\$46.24
Cecil, Katelyn	1.25 hours	46.24
Constant, Ashley	1.25 hours	46.24
Crow, Cynthia	1.25 hours	46.24
Flanagan, Heather	1.00 hours	36.99
Fleming, Susan	1.25 hours	46.24
Martin, Alexandra	1.25 hours	46.24

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR JEFFERSON MIDDLE SCHOOL RESTORATIVE PRACTICES FEBRUARY 19, 2025, \$36.99 PER HOUR, .25 HOURS FOR A TOTAL OF \$9.25 EACH: (10-2210-0000-1341-537-5)

Biggs, Brian Selsor, Michelle Garman, Jeffrey Westfall, Katrina Johnson, Gay

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT NIGHT ACTIVITIES FEBRUARY 27, 2025, \$36.99 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$92.48 EACH: (10-2210-2300-1341-531-5)

Barnard, Rachel Lacamera, Kathryn Bentsen, Abigail Lamantia, Ashley Chasco, Amber Mattsson, Mackenzie Dockter, Emily Mead, Nena Dukett, Jennifer Nunn, Jelinda Eck, Lindsay Oglesby, Jennifer Flanagan, Kathy Przekurat, Alex Green, Allison Purdy, Patricia Hamlin, Abigail Rahman, Asima Hartman, Linda Raynolds, Amy Hays, Robyn Rhodes, Lindsey Jackson, Ashton Walker, Amy Kircher, Megan

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL RESTORATIVE COACHING MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-537-5)

Morris, Bailey

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHERN VIEW ELEMENTARY SCHOOL RESTORATIVE COACHING MARCH 5, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-0000-1341-537-5)

Deaton, Jacqueline Romadka, Bryan Gebhards, Laura Spears, Heidi

Hunter, Brooke

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR LINDSAY ELEMENTARY SCHOOL UIS - RESTORATIVE PRACTICES FEBRUARY 11, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Bartletti, Jennifer Isaacks, Susan Beck, Melissa Milnes, Karen

XVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES FEBRUARY 19, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen Gebhardt, Emily

XVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES FEBRUARY 18, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Boston, Catherine Mayes, Apryl Davis, Lacy Stout, Marsha

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING FEBRUARY 18, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES FEBRUARY 21, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3100-1341-535-5)

Duke, Karen

Gebhardt, Emily

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRAHAM ELEMENTARY SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES FEBRUARY 19, 2025, \$36.99 PER HOUR, 2 HOURS FOR A TOTAL OF \$73.98 EACH: (10-2210-3100-1341-535-5)

Boston, Catherine Mayes, Apryl Camburn, Kristy Stout, Marsha

Logsdon, Alicia

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES FEBRUARY 19, 2025 \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3200-1341-535-5)

Bluhm, Wendy Martin, Bailey Kent, Jena Reincke, Rachelle

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WILCOX ELEMENTARY SCHOOL PLANNING YEAR PLANNING ACTIVITIES FEBRUARY 25, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-3200-1341-535-5)

Bluhm, Wendy Martin, Bailey Kent, Jena Reincke, Rachelle

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 25, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Burke, Evan Lee, Sabrina
Campbell, Melissa Mitchell, Shanna
Jones, Theresa Nestler, Tena
Lantz, Andrew Noll, Meghan

XXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR HARVARD PARK ELEMENTARY SCHOOL SCHOOL IMPROVEMENT BACKWARDS PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-4331-1341-534-5)

Campbell, Melissa

Nestler, Tena

Durbin, Lori

Roark, Heather

XXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER ACTIVITIES FEBRUARY 3, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn

Phillips, Michelle
Bolt, Anna

Tepatti, Miles

Impson, Jamie

XXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT ACTIVITIES FEBRUARY 6, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Barnes, Stacey Scheffers, James
Bretz, Abby Sheraden, Catherine
Law, Jordan Troemper, Brett

Martin, Colleen

XXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn
Phillips, Michelle
Gephart, Jacob
Welch, Ashley

Koebler, Bailey

XXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL RESTORATIVE TRAINING W/UIS FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Borders, Nate

Sellars, Miranda

XXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER ACTIVITIES FEBRUARY 10, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn

Gephart, Jacob

Impson, Jamie

Reynolds, Laura

Wedding, Julie

Welch, Ashley

Phillips, Michelle

XXX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FRANKLIN MIDDLE SCHOOL SCHOOL IMPROVEMENT TIER ACTIVITIES FEBRUARY 18, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-4331-1341-534-5)

Blankenship, Autumn

Phillips, Elisabeth
Bolt, Anna

Phillips, Michelle
Impson, Jamie

Tepatti, Miles
Koebler, Bailey

Welch, Ashley

Lanter, Adam

XXXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Archey, Heather K

Barnard, Angela

Buckles, Candice

Gibbs, Katie

Minton, Jacquelyn

Montooth, Jennifer

Rawls, Nicola

Stevens, Jamie

Harrison, Maggie

XXXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR WASHINGTON MIDDLE SCHOOL SCHOOL IMPROVEMENT ILT PLANNING ACTIVITIES FEBRUARY 27, 2025, \$36.99 PER HOUR, 1.25 HOURS FOR A TOTAL OF \$46.24 EACH: (10-2210-4331-1341-534-5)

Coons, Roanna Schaefer, Bridget
Daniels, Sherry Schatz, Katie

Mccarthy, Caitlin

XXXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR SOUTHEAST HIGH SCHOOL RESTORATIVE TRAINING W/UIS FEBRUARY 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-537-5)

Barnes, Kori Kantor, Kyler
Biggers, James Marley, Kathryn
Coleman, Justin Miller, Claire

XXXIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR FOCUS GROUP ACTIVITIES FEBRUARY 26, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-2700-1341-535-5)

Antonacci, Morgan Quarton, Lori Blome, Leah Quarton, Michael

Dabbs, Kathryn Seiz, Anne Greig, Anne Totura, Jessica

XXXV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR ILT PLANNING ACTIVITIES FEBRUARY 24, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-2700-1341-535-5)

Blackwood-Lee, Michelle Quarton, Lori
Blome, Leah Quarton, Michael
Dabbs, Kathryn Rudd, Lindsey
Frank, Kristine Seiz, Anne
Greig, Anne Totura, Jessica

XXXVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EDWIN A. LEE SCHOOL PLANNING YEAR BACKWARDS PLANNING ACTIVITIES FEBRUARY 25, 2025, \$36.99 PER HOUR, 1 HOUR FOR A TOTAL OF \$36.99 EACH: (10-2210-2700-1341-535-5)

Greig, Anne Quarton, Michael

Quarton, Lori Seiz, Anne

XXXVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES MARCH 4, 2025 THROUGH MARCH 13, 2025, \$32.26 PER HOUR, 19.5 HOURS FOR A TOTAL OF \$629.07 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XXXVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR STUDENT SUPPORT SERVICES FEBRUARY MEDICAID BILLING ACTIVITIES FEBRUARY 1, 2025 THROUGH MARCH 7, 2025, FOR RATE SPECIFIED: (10-2210-6220-1342-000-0)

Baker, Audrey	4.00 hours	\$47.01 Per Hour	\$188.04
Bramblett, Rebecca	5.00 hours	73.24 Per Hour	366.20
Brinkmann, Kristen	5.00 hours	66.11 Per Hour	330.55
Clark, Michelle	5.00 hours	78.78 Per Hour	393.90
Corley, Elizabeth	4.25 hours	73.24 Per Hour	311.27
Cruz, Brittany	5.00 hours	63.17 Per Hour	315.85
Deatherage, Debra	4.50 hours	67.86 Per Hour	305.37
Fenstermacher, Lori	5.00 hours	78.78 Per Hour	393.90
Foster, Jennifer	4.00 hours	58.78 Per Hour	235.12
Groesch, Erica	2.75 hours	78.78 Per Hour	216.65
Hamlin, Abigail	5.00 hours	57.30 Per Hour	286.50
Hummel, Emily	4.50 hours	73.24 Per Hour	329.58
Hussein, Samira	5.00 hours	60.23 Per Hour	301.15
Kim, Whitney	4.50 hours	78.78 Per Hour	354.51
Lanter, Lindsey	5.00 hours	64.96 Per Hour	324.80
Marcum, Stacie	4.00 hours	61.00 Per Hour	244.00
Mcdaniel-Norton, Stacey	4.75 hours	77.67 Per Hour	368.93
Meyer, Erin	0.25 hours	75.45 Per Hour	18.86
Moore, Carolyn	3.50 hours	69.60 Per Hour	243.60
Naumovich, Amanda	5.00 hours	75.46 Per Hour	377.30
Parker, Grayce	4.25 hours	60.23 Per Hour	255.98
Plummer, Kahla	4.25 hours	68.06 Per Hour	289.26
Plunkett, Cara	5.00 hours	57.30 Per Hour	286.50
Rehn, Megan	4.75 hours	47.01 Per Hour	223.30
Reitz, Laura	5.00 hours	69.60 Per Hour	348.00
Rouland, Jill	3.50 hours	67.58 Per Hour	236.53
Sanberg, Kathryn	5.00 hours	55.83 Per Hour	279.15
Sapetti, Camryn	2.00 hours	45.54 Per Hour	91.08
Swierkosz, Beth	4.00 hours	76.57 Per Hour	306.28
Watt-Brennan, Janine	4.00 hours	64.96 Per Hour	259.84

XXXIX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES JANUARY 30, 2025 THROUGH MARCH 11, 2025, \$32.26 PER HOUR, 15 HOURS FOR A TOTAL OF \$483.90 EACH: (10-3700-0000-1243-531-5)

Schrenk, Nancy

XL RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS 5TH GRADE BAND FEBRUARY 4, 2025 THROUGH FEBRUARY 25, 2025, \$36.99 PER HOUR: (10-1250-0000-1341-537-5)

Cornell, Mark	10.25 hours	\$379.15
Elshoff, Anne	17.00 hours	628.83
Gibbs, Shonda	8.75 hours	323.66
Minch, Amy	5.50 hours	203.45
O'Hare, Theresa	5.00 hours	184.95
Rockwell, Jennifer	5.25 hours	194.20
Tiemann, Joseph	11.25 hours	416.14
Yockey, Lucille	9.25 hours	342.16

XLI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FEDERAL FUNDS NON-PUBLIC INTERVENTION ACTIVITIES FEBRUARY 18, 2025 THROUGH FEBRUARY 26, 2025, \$32.26 PER HOUR, 19 HOURS FOR A TOTAL OF \$612.94 EACH: (10-3700-0000-1243-531-5)

Lamsargis, Kathy

XLII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ALGEBRA II PD MARCH 5, 2025, \$36.99 PER HOUR: (10-2210-0000-1341-564-5)

Biggers, James	1.00 hours	\$36.99
Brubeck, Sarah	1.00 hours	36.99
Hull, Jalene	1.00 hours	36.99
Mcdonald, Colleen	1.00 hours	36.99
Moldenhauer, Ryan	0.25 hours	9.25
Webster, Stephanie	0.50 hours	18.50
Wieneke, Monica	1.00 hours	36.99

XLIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY TECHNOLOGY FACILITATOR STIPEND 2ND MARKING PERIOD 24-25 NOVEMBER 11, 2024 THROUGH FEBRUARY 14, 2025, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Covey, Heather	1.00 Stipend	\$312.50
Cripe, Jill	1.00 Stipend	675.00
Crum, Milena	1.00 Stipend	125.00
Ethridge-Galloway, Tiffany	1.00 Stipend	325.00
Flanagan, Kathy	1.00 Stipend	325.00
Floyd, Alaxandria	1.00 Stipend	325.00
Grieme, Nathan	1.00 Stipend	50.00
Harris, Hannah	1.00 Stipend	37.50
Helton, Rachel	1.00 Stipend	225.00
Langen, Natasha	1.00 Stipend	325.00
Lauer, Karianna	1.00 Stipend	75.00
Lueking, Mary	1.00 Stipend	325.00
Nolting, Jenny	1.00 Stipend	100.00
Roher, Kortney	1.00 Stipend	325.00
Rudd, Douglas	1.00 Stipend	75.00
Schwab, Stephanie	1.00 Stipend	325.00
Steinmeyer, Shelby	1.00 Stipend	256.25

XLIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY MATH DEPARTMENT CHAIR PD MARCH 10, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Boarman, Claire Schaefer, Bridget
Bradley, Rechad Webster, Stephanie
Midiri, Frank Womble, Ashley
Myers, Erin

XLV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY MATH FACILITATOR STIPEND 2ND MARKING PERIOD 24-25 NOVEMBER 11, 2024 THROUGH FEBRUARY 14, 2025, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Allen, Lisa	1.00 Stipend	\$87.75
Baldin, Jennifer	1.00 Stipend	325.00
Borders, Ashley	1.00 Stipend	198.25
Bremer, Traci	1.00 Stipend	347.75
Brue, Amanda	1.00 Stipend	146.25
Bryant, Sydney	1.00 Stipend	237.25
Burke, Evan	1.00 Stipend	289.25
Cantrell, Kenda	1.00 Stipend	325.00
Capranica, Amy	1.00 Stipend	22.75
Doss, Jessica	1.00 Stipend	58.50
Edmonds, Meghan	1.00 Stipend	250.25
Friday, Jessica	1.00 Stipend	178.75
Godefroid, Amie	1.00 Stipend	208.00
Guikema, Lindsay	1.00 Stipend	81.25
Hays, Robyn	1.00 Stipend	81.25
Johnson, Kassandra	1.00 Stipend	146.25
Kother, Amanda	1.00 Stipend	295.75
Lafountain, Taunja	1.00 Stipend	58.50
Logsdon, Alicia	1.00 Stipend	87.75
Love, Brenna	1.00 Stipend	214.50
Mcdowell, Toni	1.00 Stipend	29.25
Mead, Nena	1.00 Stipend	45.50
Miller, Latasha	1.00 Stipend	22.75
Mitchell, Shanna	1.00 Stipend	198.25
Nachtwey, Kristin	1.00 Stipend	302.25
Poss, Nichole	1.00 Stipend	169.00
Roher, Kortney	1.00 Stipend	331.50
Romadka, Bryan	1.00 Stipend	237.25
Sekardi, Maria	1.00 Stipend	169.00
Shapiro, Heather	1.00 Stipend	325.00
Small, Laura	1.00 Stipend	22.75
Tarvin, Kandace	1.00 Stipend	6.50
Tonstad, Laura	1.00 Stipend	208.00

XLVI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION SECONDARY SCIENCE DEPARTMENT CHAIR MEETING FEBRUARY 24, 2025 THROUGH MARCH 24, 2025, \$36.99 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$55.49 EACH: (10-2210-0000-1341-564-5)

Covey, James Selsor, Michelle Finley, Anne Tanner, Katie Fromm, Kelly Troemper, Brett Goff, Donald Walls, Peter

Lowy, Abraham Ziemba-Montavon, Tammy

XLVII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY JANUARY 28, 2025 THROUGH MARCH 4, 2025, \$125.00 PER Stipend, 1 Stipend FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-5)

Berberet, Abigail Mceuen, Molly
Eaton, Deborah Mcquillan, Marilou
Flanagan, Heather Milward, Kara
Fugnitti, Madison Rhodes, Macy

XLVIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION ELEMENTARY SCIENCE FACILITATOR STIPEND 2ND MARKING PERIOD 24-25 NOVEMBER 11, 2024 THROUGH FEBRUARY 14, 2025, FOR RATE SPECIFIED: (10-2210-0000-1341-564-5)

Brillhart, Sarah	1.00 Stipend	\$325.00
Gilbert, Rachel	1.00 Stipend	383.50
Kent, Kyle	1.00 Stipend	29.25
Malenfant, Melissa	1.00 Stipend	58.50
Schurman, Jennifer	1.00 Stipend	52.00
Schweska, Lisa	1.00 Stipend	266.50
Wilson, Krista	1.00 Stipend	117.00

XLIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR RIDGELY ELEMENTARY SCHOOL APTT NIGHT ACTIVITIES FEBRUARY 27, 2025, FOR RATE SPECIFIED: (10-2210-2300-1341-531-5)

Cantrall, Casey	2.50 hours	\$19.39 Per Hour	\$48.48
Kapp, Nancy	2.50 hours	19.57 Per Hour	48.93
Stern, Wende	2.50 hours	25.56 Per Hour	63.90

L RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR STUDENT SUPPORT SERVICES FEBRUARY MEDICAID BILLING ACTIVITIES FEBRUARY 1, 2025 THROUGH MARCH 4, 2025, FOR RATE SPECIFIED: (10-2210-6220-1165-000-0)

Albaugh, Jenna	4.25 hours	\$62.33 Per Hour	\$264.90
Harris, Hirut	4.50 hours	46.33 Per Hour	208.49
Jose, Bethany	5.00 hours	34.79 Per Hour	173.95

LI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION CO-TEACH BOOK STUDY JANUARY 28, 2025 THROUGH MARCH 4, 2025, \$125.00 PER Stipend, 1 Stipend FOR A TOTAL OF \$125.00 EACH: (10-2210-0000-1341-564-5)

Bullock, Pungki